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Consider the “over‐subscription” planning problem as defined 
below:
‐‐you have a deterministic planning domain, with each action a
in the domain incurring a cost C(a)

‐‐You have a set of n goals G1…Gn
‐‐Each goal Gi has a reward R(Gi)

Gi l P d t th l ti t f ti i P C(P)Given a plan P, we denote the cumulative cost of actions in P as C(P)
the cumulative reward achieved by P is just the sum of the
rewards of the goals that are made true by P in its final state. 
The “net‐benefit” of a plan P is defined as its cumulative reward
minus its cumulative costminus its cumulative cost.

Our task is to find a plan P with optimal net‐benefit. 

Show how this problem can be modeled as an MDP problemShow how this problem can be modeled as an MDP problem
You have to describe the States, actions, transition functions and
rewards of the MDP (either formally or in english). Make sure
that your formulation doesn’t double‐dip (i.e., collect the reward
for a goal more than once).g )


